n

FJRESIG H'FiS BETTER
THANND SIGHT

READ INSTRUCTIDNS
EtHORE OPERATING

N

SHERLINE
PRODUCTS

INCORPORATED 1974

SADDLE NUT REPLACEMENT

P/N 4017 (Inch)
P/N 4117 (Metric)

NOTE: Before replacing the saddle nut, make surethat the
excessive backlash you are experiencing isnot caused by a
|oose adjustment between theleadscrew handwheel andits
thrust support. If thisisthe case, loosen the set screw and
index thehandwheel 1/3turnsoyoudon't pick uptheold set
screw mark. Pushthehandwheel and theleadscrew towards
one another and tighten the handwheel set screw.

About the Saddle Nut
Thesaddlenutismadeof brassand designedtobeaneasily
replaced item. It isdrilled and tapped to match the Sherline
latheand mill leadscrewswhich are 3/8-201eft-hand threads
(Metric: 10mm x Imm L.H.). Thereason they have aleft-
hand thread is so that the slide will move away from the
operator when the handwheel is turned in a clockwise
direction. Thisisstandard practicefor machinetools, small
or large.

Replacing the Lathe or Mill Saddle Nut
Removetheheadstock/motor assembly. Onthelathe, remove
the bed by removing the 10-32 socket head screws (P/N
4051) from the inside bottom of the lathe base. These two
screws hold the bed to the base. Be sure to note washer
placement onthesescrewsduringdisassembly. Itisimportant
that they are reassembled the sameway, asthewashersare
used as spacers to keep the screw from hitting the lead
screw.(From here on, these instructions apply to both the
latheandthemill.) Next removethe10-32 socket head screw
(P/N 4067) that holds the saddle nut to the lathe saddle.

Theentireleadscrew assembly may beremovedby removing
the 10-32 flat head screw that islocated on the top of the
lathe bed near the leadscrew handwheel or the front of the
mill bed near theZ-axishandwheel. Atthistime, itisagood
ideato clean up the machine.

Loosen the set screw holding the handwheel in place and
remove the leadscrew from the assembly. Thiswill allow
you to remove the saddl e nut from the leadscrew. Notethe
directionit facesbeforeremoving, andremovethesaddlenut
from the handwheel end of theleadscrew.

Thread on the new saddle nut, remembering that the lead
screw has a left handed thread. Thread the saddle nut
approximately 1" (25mm) onto the leadscrew and put the
leadscrew assembly back together. M akesurethehandwheel

ispushed all the way on before tightening the set screw or
your machinewill have excess backlash. Do not attach the
base to the bed until the saddle nut has been adjusted.

Adjusting the Saddle Nut

The adjustment for the saddle nut consists of two flat set
screwsoneither sideof a10-32 socket head cap screw. With
the saddle nut located on theleadscrew closeto the support
(P/N 4030), loosen these two screws and slide the saddle
(P/N 4091) into position over the saddle nut. Put the 10-32
socket head cap screw through the saddle and screw it into
the saddle nut, but do not tighten it yet.

Adjust theset screwsuntil theflat pointstouchthesaddlenut
and thentighten the 10-32 socket head cap screw. Watch as
you tighten to see that the screw doesn't move. If it does,
loosen and readjust the other set screws.

What we are attempting to accomplishisto havethe saddle
nut ride on the leadscrew with the minimum amount of
drag. You can check the drag by turning the leadscrew
handwhed!. If you fedl drag, tighten or loosen a single set
screw whilemovingthe saddlewiththehandwheel until the
handwhee! turns freely, but keep the saddle close to the
handwhed!. If you adjust the saddle nut while it isin the
center of theleadscrew, it may bedightly off center but will
feel freeuntil thesaddlegetscloseto either end of itstravel.
Here, theleadscrew issupported and cannot deflect soit will
bind. If you can't eliminate the binding, tap the saddle nut
withaplastichammer ontheleadscrew sidewhilethesaddle
nut istightly attached to the saddle and readjust. Don't use
themachinewithal ooseattachment screw asthiswill cause
excessive wear and backlash. If you can't seem to find the
correct settingyourself, send thebed/l eadscrew/handwheel
assembly back to Sherlineand wewill install it for you for
$10.00 handling plusshipping charges.

Joe Martin, President and Owner
Sherline Products

Refer to page 7 of the SHERLINE INSTRUCTION GUIDE (P/N 5326) for cross
section. Refer to pages 38 and 39 for exploded views of the lathe and mill.

SHERLINEPRODUCTSINC. " 3235 Executive Ridge " Vista " California 92083-8527 " FAX: (760) 727-7857
TollFree Orders (800)541-0735 " International/Local/Technical (760)727-5857 " Internet: www.sherline.com

11/7/01



